Section 4.5 (page 306)
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Answers to Odd-Numbered Exercises A63

16 115, $250,000
(a) Relative minimum: (6.7, 0.7) or July
Relative maximum: (1.3, 5.1) or February
(b) 36.68 in. (c) 3.99 in.
(a) 22 Maximum flow:
f/\ R =~ 61.713 att = 9.36.
0 24
0
(b) 1272 thousand gallons
(@) Pysp.075 = 35.3% (b) b= 58.6%
(a) $9.17 (b) $3.14
(a) & (b) g is nonnegative because the
m/\ m/ graph of f is positive at the
o /\ /\t - beginning, and generally has
Wf more positive sections than
negative ones.
-4
(c) The points on g that correspond to the extrema of f are
points of inflection of g.
(d) No, some zeros of f, such as x = /2, do not correspond
to extrema of g. The graph of g continues to increase after
x = /2 because f remains above the x-axis.
(e) 2
| VAN Fi®
/- v The graph of 4 is that of g shifted
2 units downward.
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(a) Proof (b) Proof
False.f(Zx +1)2dx=t2x+ 1P+ C
True 133. True 135-137. Proofs
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